Game of War

War is a very simple card game for two players that is based on pure luck rather than strategy.
Both players have a stack of card, and in each round of the game they try to take some of the
opponents cards. The player that loses all his cards loses the game.

Each round is played as follows:

1. Both players take a card from the top of their stacks and put it on the table.

2. If the cards on the table differ, then the player with the higher card is the winner (goto 5).

3. There is a tie, and a WAR begins. Both players take a card from the top of their stacks and put
it on top of their table stacks. These cards do not fight.

4. goto 1.

5. The player that has won the round collects the card from the table. First he takes a card from
the top of his own table stack and puts in on bottom of his stack, then a card from the top of his
opponents table stack, then a card from the top of his own table stack, then a card from the top of
his opponents table stack, and so on until the table is cleared.

If at any point a player is supposed to play a card but his stack is empty - he loses. If both players
don't have a card to play - then itis a draw. If a player has no cards at the end of a round - he
loses.

The following picture contains an example of a War game. The values in the boxes show the
supposed output of your program after successive rounds.

Write a program that will simulate a war game for a specified number of rounds. Output the stacks
of both players if the game has not finished, or two integers depnding on the outcome (see below
for a description).

Input

The first line of the input will contain an integer - the number of test cases. Each of the test cases
consists of three lines:

R
N; C4 Cj ... Cnj
N5 Cq Cy ... Cnp

Integer R < 1000000 is the number of rounds the simulation is supposed to run.

The following two lines descibe the stacks for first and second player. The first number is the
number of cards (less than 1000), followed by integer-encoded value of cards (Jack is an 11,
Queen a 12,King a 13 and an Ace is 14).

Output

For each test case output two lines:

¢ In case the game is drawn output a zero in each line.
e If the first player has won output the total number of cards in the first line and a zero in the
second.



o [fthe second player has won output a zero in the first line and the total number of cards in
the second.

e If both players have cards on their stacks - output them in the same format as in the input
(the number of cards, followed by the integer values, starting from the top).

Example 1

Input:

5

1
4146146
4139147
2
4146146
4139147
3
4146146
4139147
4
4146146
4139147
5
4146146
4139147
Output:
561461413
39147
41461413
414796
71314967 14 14
16

8

0
8
0

Example 2

Input:

10

1

3636

3646

1
102345678910 11
10111098765432
2
102345678910 11
10111098765432
3
102345678910 11
10111098765432
4
102345678910 11
10111098765432
5
102345678910 11
10111098765432



6

102345678910 11
10111098765432

7

102345678910 11
10111098765432

8

102345678910 11
10111098765432

100

102345678910 11
10111098765432
Output:

0

0

934567891011
111098765432112
845678910 11
1298765432112103
75678910 11
13876543211210394
6678910 11
147654321121039485
578910 11
1565432112103948576
689101176
145432112103948576
7910117685
13432112103948576
81011768594
1232112103948576
20

0

Scoring

By solving this problem you score 10 points.
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